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Match #15


These questions are for use in the Virginia High School League’s Scholastic Bowl District competition. Shawn Pickrell, Jason Mueller, Adam Fine and Dan Goff are the authors of these questions.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before all VHSL District champions have been determined is prohibited. 

(b)
Releasing these questions to entities outside your District’s competition is prohibited. 

First period: 15 tossups, 10 points each
1.
He left Rome at age 20, allegedly owing 250 talents to his creditors, but returned to become Julius Caesar’s Master of the Horse and read Caesar’s will to the Roman people. His fall occurred after the disaster at Actium, where he was defeated by Octavian. Who committed suicide in 30 BC, after hearing of the suicide of his lover, Cleopatra?

ANSWER: Marc Anthony (or Marcus Antonius) (NOTE: One talent is believed to be about 110 pounds, and talents were usually measured in gold.)

2.
Despite the fact that she averaged a WNBA record 25.3 points per game, and scored 47 points in a game against the Houston Comets, her team just missed the 2006 playoffs.  Name this shooting guard for the Phoenix Mercury who also won three straight titles while at the University of Connecticut.

ANSWER:   Diana Taurasi (tar-AH-zee)

3.
THIS IS A COMPUTATION QUESTION.  What is the product of (x squared plus 3x plus 5) and (x plus 1)?

ANSWER:
x cubed plus four x squared plus eight x plus five (x3 + 4x2 + 8x + 5)
4.
In the sentence, “The award was split between the two of you,” which two words can be changed to increase, by one, the number of award winners? 

ANSWER: between and two (to “among” and “three,” respectively)
5.
Four pi times 10 to the minus seven tesla times meters per ampere is the value of what constant with symbol mu sub zero?

ANSWER:
permeability of free space
6.
He starred in six films in the early 1930s with Jean Harlow, including Saratoga, but his big break came when Louis B. Mayer loaned him to Columbia Pictures, where he won the Best Actor Oscar for It Happened One Night.  Who was this actor best known for his role in Gone with the Wind as Rhett Butler?

ANSWER:  Clark Gable
7.
This foreign policy idea was first proposed in 1954 to justify US intervention in Indochina and again in the 1980s to justify Reagan’s interventions in Central America. What theory held that countries in a region would fall, one after the other, to Communism, if the US did not intervene? 

ANSWER: Domino theory

8.
He coined the phrase, “where ignorance is bliss, ‘tis folly to be wise,” and Thomas Hardy also lifted his phrase, “far from the madding crowd.” What poet is best-known for his “Elegy Written in a Country Churchyard?” 

ANSWER: Thomas Gray
9.
Residents of this Virginia county’s western half are mulling secession to form Catoctin County. The presence of Dulles International Airport and business such as America OnLine has spurred development that has made it one of the fastest-growing counties in America. What Northern Virginia county’s seat is in Leesburg?

ANSWER: Loudoun County

10.
He was the first scientist to notice chiral (KIGH-rull) molecules. He disproved the theory of spontaneous generation with an experiment involving broth, and developed vaccines against cholera and rabies. What French scientist lends his name to a process of heating something for a short time to kill off harmful microorganisms? 

ANSWER: Louis Pasteur
11.
In the original, not-for-children version, author Carlo Collodi has the title character hanged for his crimes at the end of Chapter 15. However, in chapters written later, the Blue Fairy rescues the title character and eventually makes him a real boy. The Talking Cricket appears in this novel where the title character is made by the woodcutter, Gepetto. What title character had Disney add the nose-growing for telling a lie?

ANSWER: Pinocchio
12.
This state was admitted to the Union in 1837 as a free state after it had settled a brief war with a neighboring state. In 1957, its two parts were connected when the five-mile long Mackinac Bridge opened. What state, after the founding of Ford and General Motors, became the center of America’s automotive industry and contains the cities of Grand Rapids, Lansing and Detroit?

ANSWER: Michigan
13.
Written in Coptic, from the 2nd Century AD, its text was mostly reconstructed this year. In it, Jesus tells the title character, “Step away from the others and I shall tell you the mysteries of the Kingdom.” In what non-Biblical Gospel is the title character’s turning in Jesus actually obeying Christ’s command, instead of a betrayal?

ANSWER: Gospel of Judas
14.
She once called Bill Clinton the “first black president” and has published some children’s books with her son Slade. Bill Cosey featured in her most recent novel, Love. What African-American author also created the characters “Milkman” Dead III, Pecola Breedlove and Sethe in her novels Song of Solomon, The Bluest Eye and Beloved? 

ANSWER: Toni Morrison
15.
Dinosaurs and birds have the temporal fenestra in this anatomical structure, but mammals no longer have them. It contains two parietal (puh-RYE-uh-tul), the frontal, two temporal, the sphenoid, the ethmoid, and the occipital bones. What brain-protecting structure is the upper half of the skull?

ANSWER:
cranium (prompt on “skull”)

Second period, 10 directed questions per team, 10 points each
Set A questions have an “A” after their number; set B questions have a “B.” 

1A.
What type of law, from the French word for “wrong,” applies when a wrong has been committed that is not a breach of contract?

ANSWER: tort
1B.
What five-letter adjective meaning “very fat” comes from Latin words meaning, “to eat away?”

ANSWER: obese
2A.
THIS IS A COMPUTATION QUESTION.  A quizmaster takes an average of 45 seconds to read a question in a Scholastic Bowl match. This includes the time spent by players answering, or not answering. Assuming there are no spares used and the match doesn’t go into overtime, how long does the match last?

ANSWER:
2,250 seconds or 37 ½ minutes (accept 37 minutes, 30 seconds)

2B.
Which daughter of a 1950s crooner reached #1 for ten consecutive weeks with the extremely saccharine 1977 hit “You Light Up My Life”?

ANSWER:  Debby Boone
3A.
What Hindu term, similar to nirvana, describes the liberation from the endless circle of death and rebirth?

ANSWER: moksa or moksha
3B.
THIS IS A COMPUTATION QUESTION.  For what value of x does x factorial plus x equal 7x?

ANSWER:
x equals 4
4A.
 What three Latin words describe a favor given in exchange for a favor received?

ANSWER: quid pro quo
4B.
What ancient siege engine was a giant crossbow? 

ANSWER: ballista
5A.
What is the chemical symbol for potassium?

ANSWER:
K
5B.
What does E stand for in the formula E equals mc squared?

ANSWER:
energy
6A.
What leader of the Jamestown colony was famously rescued by Pocahantas? 

ANSWER: John Smith
6B.
What Polish-born author of Solaris and The Cyberiad died in March?

ANSWER: Stanislaw Lem
7A.
The phalanges in the foot are below the “meta” type of what bones found in the upper foot and ankle?

ANSWER:
tarsals (accept metatarsals)

7B. 
What scale ranks minerals according to their hardness from 1 to 10?

ANSWER: Mohs Scale

8A.
What is the formula for the surface area of a sphere?

ANSWER:
four pi r squared
8B.
THIS IS A COMPUTATION QUESTION. Solve for x.  20x plus 70 equals 10x minus 20.

ANSWER:
x equals -9
9A.
Aram Khachaturian’s ballet “Gayaneh” (guy-AH-neh) contains what musical piece, a Kurdish dance using the title object?


ANSWER:  Sabre Dance
9B.
Founder Adolph Ochs (oaks) coined the slogan “All the News that’s Fit to Print” for what now-iconic newspaper? 

ANSWER: the New York Times
10A.
What novel, the only published during author Ralph Ellison’s lifetime, is about the apparent status of Black people in the mid 20th century?

ANSWER: Invisible Man (NOT ‘The’ Invisible Man)

10B.
Max is angry after being sent to bed without supper and imagines a number of adventures in what illustrated children’s book by Maurice Sendak?

ANSWER: Where the Wild Things Are
Third period, 15 toss-ups, 10 points each

1.
This writer has coined phrases such as “Me Decade,” “radical chic,” “good old boy” and “the right stuff.” Who has written non-fiction such as The Electric Kool-Aid Acid Test and fiction such as I am Charlotte Simmons, A Man in Full and Bonfire of the Vanities? 

ANSWER: Tom Kennerly Wolfe (accept Thomas Wolfe, I mean, that is his given name, even if the author of Look Homeward, Angel has the same name.)

2.
Over four million cubic meters of chalk had to be removed in order to create this structure.  Its average depth is 150 feet, and the underwater portion is 24 miles long.  What structure connects the town of Folkestone in Kent, England to the city of Calais (cal-AY) France by rail?

ANSWER:  Channel Tunnel (or Chunnel)

3.
This company makes its product in two scales:  1 to 64, or about 2 ½ inches long; and 1 to 43, or approximately 3 ½ inches in length.  It only has 75 models out at one time; when a new one is introduced, one of the old ones is replaced.  What is the name of this die-cast miniature car company, whose Model 20 lent its name to a lame group fronted by Rob Thomas?


ANSWER:   Matchbox
4.
In early 1914, he led an archaeological review of the Negev Desert in Palestine, conveniently mapping out water sources and other points of interest. He joined the Royal Air Force twice under assumed names before dying in a motorcycle accident in 1935. What author of Seven Pillars of Wisdom was the British military liaison to the Arab Revolt of 1916 and immortalized in a movie starring Peter O’Toole? 

ANSWER: Lawrence of Arabia (or T(homas) E(dward) Lawrence)

5.
This dialect of Lisp was created in 1967 and was originally called “Ghost.” What computer language is associated with commands, such as “FD 20” (F-D 20) and “PEN UP” (PEN UP), that control an on-screen turtle, and shares its name with a word, from the Greek for “word,” for a corporate symbol? 

ANSWER: Logo
6.
This hormone derivative of tyrosine is also known as epinephrine. What hormone is responsible for the fight or flight response and is secreted by glands located atop the kidneys? 

ANSWER:
adrenaline
7.
It was founded by Michael in 1613, bringing an end to the Time of Troubles. This dynasty’s future was in some doubt when Catherine I died in 1762 without a male heir; however it survived until 1917, when Nicholas II abdicated. What was this dynasty that ruled Russia?

ANSWER: Romanov Dynasty

8.
This title is acquired after a ceremony known as semicha (say-MEE-khuh). Over the years, its tasks have become roughly those of a Christian minister or priest. What title, which means “Teacher” in Hebrew, is the leader of a Jewish religious community?

ANSWER: Rabbi
9.
Between what two quadrants is the point (0, 23)?

ANSWER:
first and second
10.
His friend Charlie, who is “not well-liked,” is a successful businessman that loans him money to stay afloat. He is haunted by the ghost of his older brother, Ben. He finally crashes his car deliberately into a tree so his life insurance money can go to his wife, Linda, and sons, Biff and Happy. Who is the protagonist of Arthur Miller’s Death of a Salesman?

ANSWER: Willy Loman
11.
This homophone has three forms, each of which has four letters. The least-common word refers to giving out something, such as punishment. The second word refers to appearing in the same place as someone else for a common purpose, such as lunch. What is this word that also refers to something that can’t be eaten by vegetarians?

ANSWER: mete, meet or meat


12.
Their victory at Stamford Bridge was marred by an injury to Manchester United's star striker, who in turn had escaped a yellow card following a tackle of team captain John Terry.  What English Premier League football club won their second consecutive Premiership, and has no relation to President Clinton's daughter?

ANSWER: Chelsea
13.
This type of X-ray is going digital years later than other types. It involves putting the part that is to be X-rayed into a special machine, and then “squeezing” that part. Women are discouraged from using deodorant or lotion before one, and those over forty should have one yearly.  Name this type of X-ray that detects breast cancer.

ANSWER:
mammogram
14.
It can be caused by either an increase in productivity, as has been the case with computers over the past 20 years, or by a decrease in the money supply, as was the case during the early part of the Great Depression or 1990s Japan. What economic condition favors savers, due to a lowering of the general level of prices? 

ANSWER: deflation
15.
THIS IS A COMPUTATION QUESTION. How many protons are in a molecule of oxalic acid with formula C2H2O4?

ANSWER:
46
Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
According to legend, he drank moonshine when he was a baby, and died by drinking nitroglycerine.  In between, he is said to have invented the six-shooter, and taught the broncos how to buck.  What tall-tale hero of American cowboys is also said to have dug the Rio Grande river?


ANSWER:  Pecos Bill
2.
THIS IS A COMPUTATION QUESTION.  What is the median of the ten-member set consisting of 10, 76, 38, 24, 98, 12, 78, 46, 86, and 20?

ANSWER:
42
3.
This writer was killed by Ingram Frizer in 1593 in an argument over a bill. During his 10 year writing career, he translated Ovid’s Elegies and wrote six known plays, including The Massacre at Paris and Edward II. What playwright is better-known for writing Dido, Queen of Carthage, The Jew of Malta and Doctor Faustus?

ANSWER: Christopher Marlowe
4. 
It is thought to be a captured object from the same regions of space as Pluto and Charon, and its retrograde orbit is unique among objects of its size.  What is this object, the largest moon of Neptune?

ANSWER: Triton
5.
Neighborhoods in this city include Glenora and Strathcona. This Canadian city is the northernmost city in North America with a population of one million. The civic rival of Calgary, Alberta, is what city that is that province’s capital?

ANSWER: Edmonton
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